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Class: |

YEAR 12

ASSESSMENT TEST 2
TERM 1, 2013

MATHEMATICS
EXTENSION 2

Time Allowed — 90 Minutes
(Plus 5 minutes Reading T ime)

* All questions may be attempted
® All questions are of equal value
e Standard Integral Tables will be supplied
Department of Education approved calculators and templates are permitted

In every Question, show all relevant mathematical reasoning and/or calculations.

Marks may not be awarded for careless or badly arranged work

No grid paper is to be used unless provided with the examination paper

The answers to all questions are to be returned in separate bundles clearly labelled
Question 1, Question 2, etc.

Each question must show your (in the top right hand corner) Candidate Number.
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Question 4

For tangent at P

2x 2y dy
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2 2
X I _ X% N

2
a b w5

Since P(x,,y,) lies on hyperbola
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Some students failed to
explain where the =1 came
from. On the whole well
done
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ZSPN = £ZS'PN ( Angle Bisection Theorem)
. The Tangent at P bisects the angle S'PS
(iii)

£ZSPN = £8'PN (from part (i))

£S'PN = ZQPR ( given)

S'PR is a straight line (vertically opposite angles are equal)
.. Pr appears to emanate from &’
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This may be done differently
and equivalent marks given

Some students proved the
angle bisection theorem not
what was asked.

Those who did not use
PS=ePM ended up on most
occasions with a messy
algebraic expression

A number students
assumed straight line and
stated angles were vertically
opposite
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E if just did first step

The use of integration by
parts was unsuccessful for
this question
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Very few got this result
many students ran out of
time or used unsuccessful

methods




